Recovery for S06 — Parallel, Triangles, and Congruence Quiz Name

Which Triangle Congruence Theorem, show that the pair of triangles are congruent. If the triangles
can’t be proven congruent, write “NOT CONGRUENT”.
Choices: SSS, SAS, ASA, AAS, or Not Congruent

1. Prove ADOG = ACAT 2. Prove AJOE = APAT
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3. Prove ADOC = ATOW 4. Prove AMEW = AEMU
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3. Prove ARST =ATOS.
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Find an example of each angle pair in the diagram at the right.
7. a) A pair of corresponding angles.
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8. b) A pair of same side interior angles. _‘i __54 - —p—r
9. € A pair of alternate exterior angles. b 5/1
-

10. d) A pair of vertical angles.



